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QUESTION 1

Using vSphere HA Orchestrated Restart an administrator places the most mission critical VM in the highest priority.
After a host failure, the highest priority VM fails to restart while VMs in high priority restart. 

What would cause this to occur? 

A. There are insufficient cluster resources. 

B. Performance degradation VMs tolerate threshold is at default. 

C. VMware Tools is not installed. 

D. Proactive HA is disabled. 

Correct Answer: D 

 

QUESTION 2

Which setting should be used to exclude one hard disk from VM snapshots? 

A. Thin Provision disk type 

B. Dependent disk mode 

C. Independent disk mode 

D. Passthrough device mode 

Correct Answer: C 

 

QUESTION 3

What of RAM required by ESXi 6.7? 

A. 512MB 

B. 2GB 

C. 4GB 

D. 8GB 

Correct Answer: C 

 

QUESTION 4

Which two infrastructure services are provided by the Platform Services Controller? (Choose two.) 
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A. Auto Deploy 

B. License Service 

C. vCenter Single Sign-On 

D. vSphere Syslog Collector 

E. vSphere Web Client 

Correct Answer: BC 

 

QUESTION 5

A vSphere administrator discovers the size of the .vswp file for a VM with 2 vCPUs and 4GB of memory is zero. 

What could be the cause? 

A. All VM memory is reserved. 

B. Memory reservation is not set. 

C. VM is running on a snapshot. 

D. VM is in a suspended state. 

Correct Answer: A 

swap file = configured memory ?memory reservation 
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